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62+31= ...
ye) yn

6 2
3 1
60+9 = ...

A yn

6 0

+ 9
15451 = ..
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1 5

+ 5 1
13+35= ...

ye) yn

1 3
3 5

17420 = ...
4 A
1 7
2 0

41456 = ...
4 A
4 1
5 6

5482 = ...
4 A
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8 2
57+32= ...

d v

5 7

3 2

72+14= ...
4 o
7 2
1 4
28+61 = ...
4 A
2 8
6 1
43+23 = ...
4 A
4 3
2 3
24+54 = ...
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2 4
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62+31 =93
4 A
6 2
3 1
9 3
60+9 = 69
d A
6 0
+ 9
6 g
15+51 = 66
4 A
1 5
+ 5 1
6 6
13+35 =48
4 A
1 3
+ 3 5
4 8

17+20 =37
A A
1 7
2 0
3 7
41+56 =97
y.’ A
4 1
5 6
9 7
5+82 = 87
y.” A
5
8 2
8 7
57+32 =289
y. A
5 7
3 2
8 9

72+14 = 86
y.h A
7 2
1 4
8 6

28+61 = 89
y.h A
2 8
6 1
8 9

43+23 = 66
y.h A
4 3
2 3
6 6

24454 =78
y.h A
2 4
5 4
7 8
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